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OXEHOIS OtAZZEIAL 35,000,000& 35,000
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401 AlEHIZ2OHB| 2,238,028 2,100,000 138,028
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03 AlI&E20HHI 8,028 3,000 5,028
OAlE 20| 2,230,000, 000+0.0036 8,028
SCAMEIC 2SR DAL 300,000 0 300,000
401 A& HILE0HY| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
O Se A2 S RETIXTDAL
300,000, 00014 300,000
ZEEHIAY 4,009,612 2,900,000 1,109,612
& HH|AFY 2,407,452 2,400,000 7,452
AEHIZL 2] 2,407,452 2,400,000 7,452
01 Al&H| 2,400,000 2,395,000 5,000
O~ 022+ 2T EH(L=0.56Km)
700,000,000 700,000
OLE~ASH2C 2SR =1.08Km)
1,000, 000,000 1,000,000
OMBXRAZOIAZEZZ(L=0.7Km) 120,000,000 120,000
OaM IR R Z oM A& FH| (L=2. 7Km)
150,000,000 150,000
OMZ2AME AT 2AH|(1=0.35Km)
300,000,000 300,000
O &85 (2 AT 2)IEZAHL=2.0Kn)
130,000,000 130,000
03 Al&E2CHHI 7,452 5,000 2,452
OAIE20HH 2,070,000, 000+0.0036 7,452
A THOHE ZAL 1,000,000 500,000 500,000
401 A& HILE0HY| 1,000,000 500,000 500,000
01 Al&H| 993,700 496,400 497,300
OH AT 2 A 993,700,000 993,700
03 Al&E20HHI 6,300 3,600 2,700
OH AT 2 A 1,000,000, 000%0.0063 6,300
UMK RLBHAS KNS (2E155) 602, 160 0 602, 160
401 A& HIL20HY| 602, 160 0 602, 160
Al&H] 600,000 0 600,000
O L&ELHASKINE(2E155) (L=1.6%Km)
600,000,000 600,000
03 Al&E20HHI 2,160 0 2,160
O AlE=2CHY| 600,000,000 * 0.36% 2,160
DWIIEE JEIZT2 ALY 2,664,220 1,951,220 713,000
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S - FE - SRI(E) - HRAR - BaES ol &k S B2t
Al 140,000
= 2,524,220
C2ALE =AY 1,190,000 750,000 440,000
401 AlEHIZ2OHB| 1,190,000 750,000 440,000
01 Al&HI 1,185,716 748,000 437,716
OUMAHSITUZOPA B ES AHL=1.7Km)
100,000,000 100,000
ORO0IX U Z OrA Z I EHZ AHL=0.33Km)
50,000,000 50,000
OZHotS™ U2 HHIS AHL=0.06Km)
95,716,000 95,716
OuIxICr2 22 EHIBAHL=0.8Km) 80,000,000 80,000
O"X =22 FHISAHL=0.3Km)
50,000,000 50,000
OZHOSTUZHEISAHL=0.33Km)
30,000,000 30,000
OXI%EZ AFHE YIS AHL=0.05Km) 30,000,000 30,000
OB EZ =2 FBISAHL=0. 15Km)
50,000,000 50,000
O FHEEZZHH 2 HHISAHL=0.5Km)
80,000,000 80,000
OS2MAET 242 FHISAHL=0.025Km)
30,000,000 30,000
O 2022 X3 AHL=0.3Km) 30,000,000 30,000
OAEOIBEUZ ST EHZAHL=0.43Km)
20,000,000 20,000
O&EURA =28 IN2FE AHL=0.05Km)
40,000,000 40,000
OR10ts T2 SHEFAL(L=500m)
500,000,000 500,000
03 AIE =201l 4,284 2,000 2,284
OS2 FoXAAY S|
1,190,000, 000%0.36% 4,284
wekze| Ak 480,000 480,000 0
401 AIEHIZ 2B 480,000 480,000 0
01 Al&HI 478,500 478,500 0
O wERiEs 398,500,000 398,500
O nEHUFA(L0/12A5I010) 80,000,000& 80,000
03 AIE=20HHI 1,500 1,500 0
O A& 1,500,000 1,500
EZ2FX2e| A 714,220 721,220 A7,000
201 LBH2AL| 11,220 11,220 0
02 3523l 11,220 11,220 0
O Ezae MIIe= 11,220
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0 OlEl0IE2S 74TV &S
400,000 ~12& 4,800
0128 MIes 400,0003~12& 4,800
0 ERELRFD MIIQ3
45,0003 +35+122 1,620
401 AIZHIZ R0 703,000 710,000 A7,000
01 Al&HI 700,000 708,000 /8,000
O 2k, 58k RAES 180,000,000 180,000
O 2k, 58k AT 150,000,000 150,000
O =28 S & 150,000,000 150,000
O S22 100,000,000 100,000
O S2AIZ2SEHI 50,000,000& 50,000
O E22E OV RAE= 20,000,000 20,000
O 0I=EXN Bd= X8 50,000,000& 50,000
03 Al 20 3,000 2,000 1,000
O E2RAACIAE AIEFUHI 3,000,000& 3,000
S| WXt 2 E XA 280,000 0 280,000
N 140,000
= 140,000
401 AIZHIZ R0 280,000 0 280,000
N 140,000
- 140,000
01 Al&HI 278,236 0 278,236
O tHE5 28Uz ZX 278,236,000 278,236
N 140,000
= 138,236
03 Al& 20 1,764 0 1,764
O &g sz Xl 20l
280,000,000 +0.0063 1,764
[s] < IeSlall 10,515,028 8,440,664 2,074,364
= 2,750,000
N 980,000
< 850,000
= 5,935,028
AlgotE2te] 6,137,018 4,844,133 1,292,885
= 2,750,000
& 850,000
= 2,537,018
[o]FSEEON R fetfoges 315,941 315,800 141
101 QI24H| 2,071 1,930 141
CAPAEADN SN S b 2,071 1,930 141
GES[ B T[T 51,76020%402 2,071
201 Yt ot| 23,470 23,470 0
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SH - BB S2I(3) - KIRA - BE= Oil b aus HmE=
Oil &k
01 AtR2telt] 1,470 1,470 0
O S| (Gt RFZ) 7,000 %321%704! 1,470
02 3523l 22,000 22,000 0
O 3323LHA 22,000
0 Hi=&&I|etE22(H| 1,200,000&*5& 6,000
0 Hi=&E&IIAIEE 2,000,000&*5& 10,000
0 =2 S &IIAE= 500,000&*12& 6,000
202 (44| 5,400 5,400 0
01 =LHOIYI 5,400 5,400 0
O oHl(ote g RP8) 150,000&*321+12& 5,400
401 AlEHIZ 20| 285,000 285,000 0
01 Al&Hl 285,000 285,000 0
O=p) =trshN =Skl 10,000,000& * 110HA 110,000
ONIZEZHIDIAIL (EFAH) 3,000,000 *55IH A 165,000
OLEi22 RAEL(HSA)
2,000,000 5 2 10,000
Kot 7 22| At 700,000 600,000 100,000
o= 350,000
= 350,000
401 AlEHIZ2OHB| 700,000 600,000 100,000
o= 350,000
= 350,000
01 Al&Hl 695,590 598,560 97,030
OXlotdF X2l A (D15 ME )
198,740,000& 198,740
o= 100,000
= 98,740
OBt E A (HIEXIT) 496,850,000 496,850
o= 250,000
= 246,850
03 A& =201l 4,410 1,440 2,970
OXleotE s X2t el AFE S CHYI
700,000,000 *0.63/100 4,410
KLt EHI (DS AR AY) 4,166,667 2,998,333 1,168,334
= 2,500,000
o= 500,000
= 1,166,667
401 AlEHIZ2OHB| 4,166,667 2,998,333 1,168,334
= 2,500,000
o= 500,000
= 1,166,667
01 Al&Hl 4,155,417 2,987,539 1,167,878
O 9&Y DEol Y THA
4,155,417 ,000& 4,155,417
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S tEAd
I ot gl
ool Xigota e (Erel: ®e)
SA - B - S9I(E) - RAY - BaS ol b HIDZS2
= 2,500,000
& 500,000
= 1,155,417
03 Al 20 11,250 10,794 4%
O S8 D8 28 ZEAE AIE R0
11,250,000& & 11,250
2o KX E==(40122]) 250,000 250,000 0
= 250,000
401 AIZHIZ R0 250,000 250,000 0
= 250,000
01 Al&HI 250,000 250,000 0
O=Itote RAEAt 250,000,000& 250,000
= 250,000
KYotd AlEZHIA 704,410 680,000 24,410
401 AlSHIZ 20| 704,410 680,000 24,410
01 A&t 700,000 678,000 22,000
Odtd =g TdAY 200,000,000& 200,000
OAEdE ZHISA 300,000,000 300,000
OHHHE (AKX T) S EHIS AL
200,000,000& 200,000
03 Al 20 4,410 2,000 2,410
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